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Seminar in Options Trading
Home Work 3

Following are 40 questions, each worth 2.5 points.  Indicate the answer you think most correct.  If you show your work and the final answer is incorrect, but the process is correct you will receive partial credit.
Chapter 16: Employee Stock Options
1. Which of the following is true?
A. An employee stock option is usually held to maturity

B. An employee stock option tends to be exercised earlier than a traded option with the same terms  
C. An employee stock options tends to be exercised later than a traded option with the same terms  

D. Employee stock options are usually exercised as early as possible
2. Which of the following is NOT usually true about employee stock options?
A. There is a vesting period
B. They can be sold to other employees
C. They are often at-the-money when issued
D. Their value is currently a charge to the income statement
3. What term is used to describe losses shareholders experience because the interests of managers are not aligned with their own?
A. Agency costs

B. Backdating scandals 
C. Dilution

D. Income statement expense

4. Which of the following are true of employee stock options?
A. They are commonly valued as though they are regular American options

B. They are commonly valued as though they are regular American options, but with a reduced life. 

C. They are commonly valued as though they are regular European option

D. They are commonly valued as though they are regular European options but with a reduced life. 
5. Which of the following was true about employee stock options prior to 1995?   
A. The options never had any affect on a company’s financial statements
B. The value of options which were at-the-money when issued had to be expensed on the income statement
C. The value of options which were at-the-money when issued had to be reported in the notes to the financial statements
D. Options which were at-the-money when issued did not affect a company’s financial statements

6. Which of the following was true about employee stock options between 1996 and 2004?  

A. The options never had any affect on a company’s financial statements

B. The value of options which were at-the-money when issued had to be expensed on the income statement

C. The value of options which were at-the-money when issued had to be reported in the notes to the financial statements

D. Options which were at-the-money when issued did not affect a company’s financial statements

7. Which of the following was true after 2005?
A. The options never had any affect on a company’s financial statements

B. The value of options which were at-the-money when issued had to be expensed on the income statement

C. The value of options which were at-the-money when issued had to be reported in the notes to the financial statements

D. Options which were at-the-money when issued did not affect a company’s financial statements

8. Which of the following is true about employee stock options after they have been issued?
A. They have to be revalued every year
B. They have to be revalued every quarter
C. They have to be revalued every day like other derivatives
D. They never have to be revalued
9. Which of the following is true about the practice of backdating a stock options grant?
A. It is illegal
B. It is illegal in the majority of states in the U.S., but not all states
C. It is illegal in roughly half the states in the U.S.
D. It is unethical, but not illegal
10. A company surprises the market with an announcement that it has granted stock options to senior executives. The options are exercised four years later. When does dilution take place? 
A. Dilution takes place when the options are exercised
B. Dilution takes place on the announcement date
C. Dilution takes place gradually over the four years
D. There is no dilution
Chapter 17:  Options on Stock Indices and Currencies 
11. Which of the following describes what a company should do to create a range forward contract in order to hedge foreign currency that will be received?

A. Buy a put and sell a call on the currency with the strike price of the put higher than that of the call

B. Buy a put and sell a call on the currency with the strike price of the put lower than that of the call

C. Buy a call and sell a put on the currency with the strike price of the put higher than that of the call

D. Buy a call and sell a put on the currency with the strike price of the put lower than that of the call

12. Which of the following describes what a company should do to create a range forward contract in order to hedge foreign currency that will be paid?

A. Buy a put and sell a call on the currency with the strike price of the put higher than that of the call

B. Buy a put and sell a call on the currency with the strike price of the put lower than that of the call

C. Buy a call and sell a put on the currency with the strike price of the put higher than that of the call

D. Buy a call and sell a put on the currency with the strike price of the put lower than that of the call

13. What should the continuous dividend yield be replaced by when options on an exchange rate are valued using the formula for an option on a stock paying a continuous dividend yield?

A. The domestic risk-free rate

B. The foreign risk-free rate

C. The foreign risk-free rate minus the domestic risk-free rate

D. None of the above

14. Suppose that the domestic risk free rate is r and dividend yield on an index is q. How should the put-call parity formula for options on a non-dividend-paying stock be changed to provide a put-call parity formula for options on a stock index? Assume the options last T years.

A. The stock price is replaced by the value of the index multiplied by exp(qT)

B. The stock price is replaced by the value of the index multiplied by exp(rT)

C. The stock price is replaced by the value of the index multiplied by exp(-qT)

D. The stock price is replaced by the value of the index multiplied by exp(-rT)

15. A portfolio manager in charge of a portfolio worth $10 million is concerned that stock prices might decline rapidly during the next six months and would like to use put options on an index to provide protection against the portfolio falling below $9.5 million. The index is currently standing at 500 and each contract is on 100 times the index. What position is required if the portfolio has a beta of 1?

A. Short 200 contracts

B. Long 200 contracts

C. Short 100 contracts

D. Long 100 contracts

16. A European at-the-money put option on a currency has four years until maturity. The exchange rate volatility is 10%, the domestic risk-free rate is 2% and the foreign risk-free rate is 5%. The current exchange rate is 1.2000. What is the value of the option?

A. 1.11N(0.7)-0.98N(0.5)

B. 1.11N(-0.7)-0.98N(-0.5)

C. 1.11N(0.7)-0.98N(0.4)

D. 1.11N(-0.06)-0.98N(-0.10)

17. Which of the following is true when a European currency option is valued using forward exchange rates?

A. It is not necessary to know the domestic interest rate or the spot exchange rate 

B. It is not necessary to know either the foreign or domestic interest rate 

C. It is necessary to know the difference between the foreign and domestic interest rates but not the rates themselves

D. It is not necessary to know the foreign interest rate or the spot exchange rate 

18. What is the size of one option contract on the S&P 500?

A. 250 times the index

B. 100 times the index

C. 50 times the index

D. 25 times the index

19. The domestic risk-free rate is 3%. The foreign risk-free rate is 5%. What is the risk-neutral growth rate of the exchange rate?

A. +2%

B. -2%

C. +5% 

D. +3%

20. What is the same as 100 call options to buy one unit of currency A with currency B at a strike price of 1.25?

A. 100 call options to buy one unit of currency B with currency A at a strike price of 0.8

B. 125 call options to buy one unit of currency B with currency A at a strike price of 0.8

C. 100 put options to sell one unit of currency B for currency A at a strike price of 0.8

Chapter 18:  Futures Options 
21. Which of the following is acquired (in addition to a cash payoff) when the holder of a put futures exercises?

E. A long position in a futures contract

F. A short position in a futures contract

G. A long position in the underlying asset

H. A short position in the underlying asset

22. Which of the following is acquired (in addition to a cash payoff) when the holder of a call futures exercises?

A. A long position in a futures contract

B. A short position in a futures contract

C. A long position in the underlying asset

D. A short position in the underlying asset

23. The risk-free rate is 5% and the dividend yield on the S&P 500 index is 2%. Which of the following is correct when a futures option on the index is being valued? 

A. The futures price of the S&P 500 is treated like a stock paying a dividend yield of 5%. 

B. The futures price of the S&P 500 is treated like a stock paying a dividend yield of 2%. 

C. The futures price of the S&P 500 is treated like a stock paying a dividend yield of 3%. 

D. The futures price of the S&P 500 is treated like a non-dividend-paying stock. 


24. Which of the following is NOT true?  

A. Black’s model can be used to value an American-style option on futures

B. Black’s model can be used to value a European-style option on futures

C. Black’s model can be used to value a European-style option on spot

D. Black’s model is widely used by practitioners 

25. Which of the following is true when the futures price exceeds the spot price?

A. Calls on futures should never be exercised early

B. Put on futures should never be exercised early

C. A call on futures is always worth at least as much as the corresponding call on spot

D. A call on spot is always worth at least as much as the corresponding call on futures

26. What is the value of a European call futures option where the futures price is 50, the strike price is 50, the risk-free rate is 5%, the volatility is 20% and the time to maturity is three months?

A. 49.38N(0.05)-49.38N(-0.05)

B. 50N(0.05)-50N(-0.05)

C. 49.38N(0.1)-49.38N(-0.1)

D. 50N(0.1)-49.38N(-0.1)

Chapter 19: The Greek Letters  
27. A call option on a stock has a delta of 0.3. A trader has sold 1,000 options. What position should the trader take to hedge the position?

A. Sell 300 shares

B. Buy 300 shares

C. Sell 700 shares

D. Buy 700 shares

28. What does theta measure?

A. The rate of change of delta with the asset price

B. The rate of change of the portfolio value with the passage of time

C. The sensitivity of a portfolio value to interest rate changes

D. None of the above

29. What does gamma measure?

A. The rate of change of delta with the asset price

B. The rate of change of the portfolio value with the passage of time

C. The sensitivity of a portfolio value to interest rate changes

D. None of the above

30. What does vega measure?

A. The rate of change of delta with the asset price

B. The rate of change of the portfolio value with the passage of time

C. The sensitivity of a portfolio value to interest rate changes

D. None of the above

31. What does rho measure?

A. The rate of change of delta with the asset price

B. The rate of change of the portfolio value with the passage of time

C. The sensitivity of a portfolio value to interest rate changes

D. None of the above

32. Which of the following is true?

A. The delta of a European put equals minus the delta of a European call

B. The delta of a European put equals the delta of a European call

C. The gamma of a European put equals minus the gamma of a European call

D. The gamma of a European put equals the gamma of a European call 

33. A portfolio of derivatives on a stock has a delta of 2400 and a gamma of –10. An option on the stock with a delta of 0.5 and a gamma of 0.04 can be traded. What position in the option is necessary to make the portfolio gamma neutral?

A. Long position in 250 options

B. Short position in 250 options

C. Long position in 20 options

D. Short position in 20 options

34. A trader uses a stop-loss strategy to hedge a short position in a three-month call option with a strike price of 0.7000 on an exchange rate. The current exchange rate is 0.6950 and value of the option is 0.1. The trader covers the option when the exchange rate reaches 0.7005 and uncovers (i.e., assumes a naked position) if the exchange rate falls to 0.6995. Which of the following is NOT true?

A. The exchange rate trading might cost nothing so that the trader gains 0.1 for each option sold

B. The exchange rate trading might cost considerably more than 0.1 for each option sold so that the trader loses money

C. The present value of the gain or loss from the exchange rate trading should be about 0.1 on average for each option sold

D. The hedge works reasonably well

35. Maintaining a delta-neutral portfolio is an example of which of the following 

A. Stop-loss strategy

B. Dynamic hedging

C. Hedge and forget strategy

D. Static hedging

36. Which of the following could NOT be a delta-neutral portfolio?

A. A long position in call options plus a short position in the underlying stock

B. A short position in call options plus a short position in the underlying stock

C. A long position in put options and a long position in the underlying stock

D. A long position in a put option and a long position in a call option

37. Which of the following is NOT true about gamma?

A. A highly positive or highly negative value of gamma indicates that a portfolio needs frequent rebalancing to stay delta neutral

B. The magnitude of gamma is a measure of the curvature of the portfolio value as a function of the underlying asset price

C. A big positive value for gamma indicates that a big movement in the asset price in either direction will lead to a loss

D. A long position in either a call or a put has a positive gamma 

38. Gamma tends to be high for which of the following

A. At-the money options

B. Out-of-the money options

C. In-the-money options

D. Options with a long time to maturity

39. Which of the following is true for a call option on a non-dividend-paying stock when the stock’s price equals the strike price?

A. It has a delta of 0.5

B. It has a delta less than 0.5

C. It has a delta greater than 0.5 

D. Delta can be greater than or less than 0.5

40. The risk-free rate is 5% and the dividend yield on an index is 2%. Which of the following is the delta with respect to the index for a one-year futures on the index?

A. 0.98

B. 1.05

C. 1.03

D. 1.02 

